T-Maxx with TRX 3.3 (Model 4908) Parts List

Parts shown in bold are optional accessories. Part categories and individual part listings are arranged alphabetically. Prices are shown in US Dollars.

5262  Air filter and pre-filter inserts, foam (high-volume) (3) (pre-oiled,
assembled) (TRX 2.5, 2.5R, 3.3) ....ccociriniiireeneeee et $10.00
5267  Air filter body (high-volume)/ filter support/ cap/ foam filter, pre-
filter/ T-Maxx filter base (angled)/wire mount/hardware (1
each) (Fits Maxx trucks) (TRX 2.5, 2.5R, 3.3) .
5263 Oil, @i fIOr ..o
Bearings & Bushings
4609 Ball bearings (5x10x4mm) (2) $8.00
4611 Ball bearings (5x11x4mm) (2) $6.00
2728 Ball bearings (5x8x2.5mm) (2) $8.00
5119 Ball bearings, blue rubber sealed (10x15x4mm) (2).
5115 Ball bearings, blue rubber sealed (5x10x4mm) (2) .. .
5116 Ball bearings, blue rubber sealed (5x11x4mm) (2) .....cocvvveeiieriiennnns
5114  Ball bearings, blue rubber sealed (5x8x2.5mm) (2).......ccccceevvvrnennn.
5117 Ball bearings, blue rubber sealed (6x12x4mm) (2)... .
5118 Ball bearings, blue rubber sealed (8x16x5mm) (2)
5120 Ball bearings, blue rubber shield (12x18x4mm) (2) .

2545  Bellcrank bushings (plastic) (5x8x2.5mm) (4

Body & Accessories

1926 Antenna caps, vinyl (2)/ antenna spool
5526  Antenna crimp nut, aluminum (blue-anodized)/ antenna nut tools.....
1726  Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1).................
3170 Battery holder, 4-cell/ on-off SWitCh............coceiiiiiiii,
3935 Body clip (mounting clip), angled, 90-degrees (10) ..
1834  Body clips (12) (standard Size) .........cccceviiiiiiiiiiiiiiseees e
3934 Body clips, heavy duty (12)......cceeiiiiieiiiiierie s
4914R Body mount posts, front (2)/ body mount, rear/ body mount screw
PINS (4) ottt ettt enenn $6.00
1815 BOdY WASHEIS (8) ....cueeiiieiiiiiiiieiecieeeeee e $2.00
4915 Body washers, foam adhesive (10)....
4921 Body, T-Maxx (long wheelbase) (clear, requires painting)/ window,

lights decal sheet ..
4921X Body, T-Maxx, ProGraphlx (long wheelbase) (replacement for

painted body. Graphics are painted- requires paint and final color

application)/ window, grill, lights decal sheet .............ccccoviiiiiiiins $34.99
2514 Decal sheet, racing sponsors
4920X Decal sheets, T-Maxx 3.3 (long wheelbase) (model 4908)................

9950 Official Team Traxxas racing decal set (flag logo/ 6-color) .........
5185 Tires, rubber (2) (fits Traxxas wheelie bar wheels)
4974  Wheelie bar arm (1)/ connector (1)/ 3x12 SS (hex drive) (4). .
4977  Wheelie bar mount (1) $7.00
4975  Wheelie bar, assembled (fits all Maxx trucks). ..$20.00
4976  Wheels (4)/ Axles (2), for Maxx wheelie bar ...........cccccooiiiieiiininene $4.00
5186A Wheels, aluminum (blue-anodized) (2)/ 5x8mm ball

bearings (4)/ axles (2)/ rubber tires (2) $19.95

5186 Wheels, aluminum (red-anodized) (2)/ 5x8mm ball

bearings (4)/ axles (2)/ rubber tires (2 .$19.95
Brake Components

4966 Brake adapter, hex aluminum (bIU€)..........ccceeviiiiiiiiiiiicc e $4.75
4967 Brake cam (blue)/ cam lever/ 3mm set SCrew.........ccccoeevevienieenieenns $6.25
5364 Brake disC (40mMm Steel) .....ccuoiiiiiiiiiiiieee e
5364X Brake disc (high performance, vented)....
5365 Brake pad set (inner and outer calipers with bonded friction

MALEIIAL) ... $7.50
4978  Screws, 3x21mm button-head machine (hex drive) (partially

threaded, Revo brake bolts) (6) ...........ccoccoviiiiiiiiiiiiis $2.50

Bumpers & Skidplates
Bulkhead cross braces (2)/ 3x25mm CS screws (8)........ccceceerueenen.
Bumper mounts, front (1&r)/ bumper mounts, rear (1&r)/ 3x12mm
RHM SCrEWS (8) ...ttt
4935X Bumpers, 6061-T6, brushed aluminum (f&r)
4935 Bumpers, satin finished (f&r) .
2579  Screws, 3x15mm button-head machine (hex drive) (6) ...........cc......
4937A Skidplate, front plastic (grey)/ stainless steel plate
4937 Skidplate, front plastic/ stainless steel plate (black)..
4938A Skidplate, rear plastic (grey)/ stainless steel plate...

3930
4936

4938 Skidplate, rear plastic/ stainless steel plate (blac ) .. $6.

4969  Skidplate, transmission, nylon (grey) (for long wheelbase chassis) .. $6.00
5185 Tires, rubber (2) (fits Traxxas wheelie bar wheels)..... $7.00
4974  Wheelie bar arm (1)/ connector (1)/ 3x12 SS (hex drive) (4). $10.00
4977  Wheelie bar mount (1) ....ooeioiiiiiieie e $7.00
4975  Wheelie bar, assembled (fits all Maxx trucks)...........ccccuvvrveercnincnnnns $20.00

For assistance call 1-888-TRAXXAS. or e-mail Traxxas anvtime at suoport@Traxxas.com

4976
5186A

5186

3170
4925X

5159
4963
5122X

5167

5185
4974
4977
4975
4976
5186A

5186

4609
4611
4120

4122

4124

4146X
3281
1633
4142
5244

5117
5118
5381

5136X
5382X

3979
5130
5135
5136
5039
5137
5379X

5334
5334R

5459

5153

5451X

5154

5451R

5456

Wheels (4)/ Axles (2), for Maxx wheelie bar............ccccoovvoiviniininennns $4.00
Wheels, aluminum (blue-anodized) (2)/ 5x8mm ball
bearings (4)/ axles (2)/ rubber tires (2)........cccvrerirrierrernnns $19.95

Wheels, aluminum (red-anodized) (2)/ 5x8mm ball
ings (4)/ axles (2)/ rubber tires (2

Chassis & Attachments
Battery holder, 4-cell/ on-off SWitCh............cccooiiiiiiiiiiii s
Box, battery (grey)/ adhesive foam chassis pad/charge jack

plug (rubber)
Box, receiver (upper and lower halves)/ clip (1)/ foam pad .... .
Chassis braces, lower (black) (for long wheelbase chassis) (2)........
Chassis, T-Maxx, long wheelbase (extended 30mm) (6061-T6
aluminum, 4.0mm) (blue anodized) ............ccceiiiiiiiiiicc e $60.00
Slide carb linkage bellcrank post/ 5x8x2.5 plastic bushing (2)/

bellcrank/ 5x8x0.5 fiber washer (2)/ 3x10 WM
Tires, rubber (2) (fits Traxxas wheelie bar wheels) ....
Wheelie bar arm (1)/ connector (1)/ 3x12 SS (hex drive) (4)..
Wheelie bar mount (1) .....ccooovreiieniiinieeceen,
Wheelie bar, assembled (fits all Maxx trucks) .... .
Wheels (4)/ Axles (2), for Maxx wheelie bar............ccccoovvoviviiinienns
Wheels, aluminum (blue-anodized) (2)/ 5x8mm ball

bearings (4)/ axles (2)/ rubber tires (2)........cccvrerirrrerrernnns $19.95
Wheels, aluminum (red-anodized) (2)/ 5x8mm ball
bearings (4)/ axles (2)/ rubber tires (2)............cccccovueunnenn.n. $19.95

Glutch & Related Parts

Ball bearings (5x10x4mm) (2).......
Ball bearings (5x11x4mm) (2).......
Clutch bell, (20-tooth)/ 5x8x0.5mm fiber washer (2)/ 5mm E-

clip (requires #4611-ball bearings, 5x11x4mm (2)........ccceveriunnnne $12.00
Clutch bell, (22-tooth)/ 5x8x0.5mm fiber washer (2)/ 5mm E-

clip (requires #4611-ball bearings, 5x11x4mm (2)) .....ccccvevivrivennenns $12.00
Clutch bell, (24-tooth)/ 5x8x0.5mm fiber washer (2)/ 5mm E-

clip (requires #4611-ball bearings, 5x11x4mm (2))..... $12.00
Clutch shoes (2)/ spring (T-Maxx/Revo/Jato/Nitro 4-Tec) $7.75
Cone, split beveled $3.00

E-clips/ C-rings
Flywheel (N. Rustler/Sport/Stampede/T-Maxx/Revo/Jato)..
Flywheel nut (TRX 2.5, 2.5R, 3.3)

mﬁeremnl | Components
Ball bearings, blue rubber sealed (10x15x4mm) (2)..
Ball bearings, blue rubber sealed (6x12x4mm) (2)
Ball bearings, blue rubber sealed (8x16x5mm) (2) .. .
Carrier, differential/ x-ring gaskets (2)/ ring gear gasket/ 6x10x0. 5
TV bbbttt
Differential oil kit (1 each: 10K, 30K, 50K weights).............cccenuues $21.00
Gear set, differential (output gears (2)/ spider gears (2)/ spider
gear shaft/ diff carrier SUPPOrt).........ccoeeeeiirierieeeeeeeeen
Housings, differential (left & right)/ pinion collar (1)...
Oil, differential (100K weight) (.7 oz (20cc))
Oil, differential (10K weight).........
Oil, differential (30K weight) .........
Oil, differential (500K weight) .
Oil, differential (50K weight) ..
Ring gear, differential/ pinion gear, dlfferentlal
Screws, 2.5x8mm cap-head machine (6

Axle carriers, left & right (1 €ach) ........cccooiiiiiiiiiie e $8.00
Axle carriers, left & right (1 each) (use with larger 6x13mm ball
bearings)/ bearing adapters (for 6x12mm ball bearings) (2)/

dust boot retainers (4) .......cccveniernininen i ————— 10.00
Boots, driveshaft (rubber) (2).........ccooiiiiiiiie, $2.50
Drive cups, inner (2) Revo/Maxx (steel constant-velocity
driveshafts)/screw pin, M4/15(2) .........cccecvimniensunsnnnns $8.00

Driveshaft assembly (1), left or right (fully assembled, ready to
install)/ 4x15Mm SCrew Pin (1) ...c.cciiiiieiiiieeee e $12.00
Driveshaft, steel constant-velocity, Revo/Maxx (shaft only,

128.5mm)/ drive cup pin (1)
Driveshafts, Revo/Maxx (steel constant-velocity)(assembled
w/inner & outer dust boots) (for models w/sealed pivot ball
suspension & 3.8" wheels)(4).......
Half shafts, center front (Revo 3.3) (internal splined (1)/ external
splined (1)/ center rear (internal splined (1)/ external

splined (1)) (plastic parts only)..........cccceeiiiiieieiie s

REV. 080811 1138



Page 2 T-Maxx with TRX 3.3 (Model 4908) Parts List

4955
5129

5145
5189
5454
5166

5452

4954
4954R
4954X

5353X

5353
5457
5458X
5453

5160
4960X

3159

4919A
4918
4918X

4918A
4919
4919X

5238R

4859
3232
3232X
5228
5290
5211R

3932
5277
5170
4091

3296
4961

5140

5256
5246

2577
5142

5487

5280
5281
5273
5270R

5276
5148
5275

4581

Pins, axle (2.5X12MmM) (4)...ccooiiieiiieeee e
Rebuild kit (for Revo/Maxx steel constant-velocity

driveshafts) (includes pins, dustboots, & lube for 2

driveshafts assemblies).
Screw pin, 4X15mm (6) .........coceeveiiiinieieee
Screw pins, 4x13mm (with threadlock) (4)
Stub axle (Steel) (2).....cviireiiiee e
Stub axle, (1)/ axle sleeve (1) Revo/Maxx (steel constant-
velocity driveshaft) .....
U-joints, driveshaft (carrier (4)/ 4.5mm cross pin (4)/ 3mm cross

pin (4)/ e-clips (20)) (metal parts for 2 driveshafts)..............cccccoeeeeee. $10.00
Wheel hubs, hex (2)/ axle pins (2.5x12mm) (2)
Wheel hubs, hex (steel)........
Wheel hubs, hex, 6061-T6 aluminum (blue) (4)/ axle

PiNS (2.5X10MM) (4) ceeeiiiiieer e s $20.00
Wheel hubs, splined, 177mm (blue-anodized) (4)/ wheel nuts,

splined, 177mm (blue-anodized) (4)/ screw pins, 4x13mm (with
threadlock) (4) ....ococceeereeererereserer et e enes $25.00
Wheel nuts, splined, 177mm (blue-anodized) (4).......ccccueerrrerrrunnnns $8.00
Yoke, brake (1)/ torque pins (2)/ 4x15mm SCrew pin ..........cccccoeveeeenne $4.00
Yokes, differential and transmission (2)/ 4x15mm screw pins (2). $4.00

Yokes, stub axle (2)/ pi

Engine & Servo Mounts

Engine mount, aluminum/ 3x10 CS with washers (8) ............cc.ccce.. $11.00
Engine mount, machined 6061-T6 aluminum (blue) (w/

SCrews) (MaxX Seri€S) .....cccccerrrerrrerrieriiensssr s ssnnens $42.00
Screws, 3x10mm caphead machine (hex drive) (6)/

lockwashers (6)/ hex Wrench ...........cccocoiiiiiiici e, $2.75
Servo mount, throttle/brake (1) (Grey)......cooveeeereenieenieiieeeeees $3.50
Servo mounts, steering/ shift (f&r) (black) .........ccovveriniinrienrnnnen, $3.50

Servo mounts, steering/ shift (machined
aluminum) (blue) (f&r)/ machine screws (8) .........ccccerriericssiensens $20.00

Servo mounts, steering/shift (f&r)(grey) $3.50
Servo mounts, throttle/ brake (1) (black).... $3.50
Servo mounts, throttle/ brake (machined

aluminum) (blue) (f&r)/ machine Screws (8) .........ccoccvvverieerieninees $20.00

Cooling head, PowerTune (machined aluminum, blue-
anodized) (TRX 3.3), head protector (1), 3x6mm CCS (5)

Flathead engine mount screws 3x10, hex head, machine.. $1.75
Glow plug, super-duty (long medium)/ gasket ... $5.50
Glow plug, super-duty (long-medium)/gasket .............. $5.50
Head protector, cooling head (1)/3x6mm CCS (5) (TRX 3.3) .. $3.00
Piston/sleeve (matched set), wrist pin clips(2) (TRX 3.3) .....cccoeenneen. $80.00
Roller clutch/ 6x8x0.5 TW (1) (also called one-way bearing) (TRX

2.5, 2.5R, B.3) oot $22.50
Screws, 3x6mm flat-head machine (hex drive) (6) .. $2.50
Shaft, starter (TRX 2.5, 2.5R, 3.3) ........... $9.00

Starter, recoil (complete with screws) (TRX 2.5, 2.5R, 3.3)........... $20.00
Temp gauge, blue (On-board engine tuning aid, digital LCD
readout, new style with max. temp. memory) ...

Cable ties, medium (black) (6)
Fittings, inlet (nipple) for fuel or water cooling (2)
Hanger, metal wire (for Resonator pipe in T-Maxx with long
WHEEIDASE)......iiiiiiiiiii e
Header, aluminum (T-Maxx) (for rear exhaust engines only) (TRX
2.5, 2.5R, 3.3) ittt $20
O-ring, header 12.2x1mm (TRX 2.5, 2.5R, 3.3)...ccceoeiiiiiieiniiiiees
Pipe coupler, molded (for use with pipes 5152 (T Maxx) &

4452R) (TRX 2.5, 2.5R, 3.3) .
Screws, 3x10mm button-head machine (hex drlve) (6)
Screws, 3x15mm cap-head machine (hex drive) (with split and flat
washers) (6)..........
Tuned pipe, Resonator, R.O.

chamber) (fits Maxx vehicles W|th TRX Racing

E1 Start 2 & Related parts
Connector, wiring harness (EZ-Start and EZ-Start 2) ..
Control box (complete) (EZ-Start 2) .
Control box battery cover w/ belt clip (EZ-Start 2) ..........c.cccoooeieenns
Cush-drive elements (4) (EZ-Start 2).........coceviiiiriieniienceceen,
EZ-Start 2, complete system with controller, drive unit, wiring
NAIMESS ...t $50.00
Gear set (complete) (EZ-Start 2) .........coceeiieiieeiiinieeieeeeee s
Grease, white lithium
Housing set (inner, outer)/ 3x12mmBCS (5)/ 3x20BCS (1)/ motor
bushing (EZ-Start 2).........c.ccceeiiiiiiiiii e
Lead wire, glow plug (blue) (EZ-Start and EZ-Start 2)............cccce....

4581X

5279
5211R

5169
5282

2578
5277

5334R

2728
4944

3930
4930R
4930X

5134
5355

5378X

4933
4933X

5347
2742X
4859
5345

2070
4917R
4945

5132R
5131R
5161

5141A

5141R

3147X
4948
4958

3149A

5001
3230
3232
3232X
5148
5263
5001R

5060
5010
5070
5020
5080

5526
3935
1834
3934

Lead wire, glow plug (blue) (EZ-Start and EZ-Start 2)/ molex

pin extractor (use where glow plug wire does not have bullet
connector) .........
Motor (hi-torque)/ pinion gear/ motor bushing (EZ Start 2) .
Roller clutch/ 6x8x0.5 TW (1) (also called one-way bearing) (TRX
2.5,2.5R, 3.3) .
Screws, 2.6x8mm countersunk machine (6).
Screws, 3x12mm button-head machine (6) (starter attachment
screws with Threadlock)
Screws, 3x12mm button-head machine (hex drive) (6)
Shaft, starter (TRX 2.5, 2.5R, 3.3

Front Suspension & Steering

Axle carriers, left & right (1 each) (use with larger 6x13mm ball
bearings)/ bearing adapters (for 6x12mm ball bearings) (2)/

dust boot retainers (4)
Ball bearings (5x8x2.5mm) (2)
Bellcrank posts, aluminum (2)/ steering link threaded
rod (3x25mm)/ long rod ends (2)

Bulkhead cross braces (2)/ 3x25mm CS screws (8).. $3.50
Bulkheads (I & r) (front) (grey) $8.00
Bulkheads, front (machined 6061-T6

aluminum) (blue) (1&r) (requires use of 4939X suspension

pins) $75.00
Caster spacers (4)/ ShimMS (4) ...ccvoiiiiiieiiiieeeeieee e $3.00
Hollow ball, tall centered (2)/ tall offset hollow ball (2)/ bump steer
adjustment shims; 3.5mm (2), 1.17MM (2) ...ccoiiiiiiiiiiieieeee $4.75

Pivot ball caps (4)/ dust boots, rubber (4)/ dust plugs, rubber (4)/
dust boot retainers, black (4), blue (4) (2 pkgs. req. to complete
truck)
Pivot balls (4)/ pivot ball cap bushings (4)
Pivot balls, hard-anodized 7075-T6 aluminum (4)/ pivot ball
cap bushings (4)
Rod ends, Revo (large) with hollow balls (12) ........ccccooiiiiniiiienns
Rod ends, short (6)/ hollow balls (6) .
Screws, 3x10 flathead machine (hex drive) (4)
Servo horns (steering) (2)/ linkage, steering (3x20mm threaded
rod) (2)/ rod ends (short) (4)/ hollow balls (4)
Servo, digital high-torque (ball bearing)...
Shock tower (for rectangular body posts) .
Steering bellcranks/ servo saver/ servo saver spring/ servo spnng
retainer (requires 5x11mm BB (2)) .
Suspension arms (lower) (2) (fits all Maxx series)
Suspension arms (upper) (2) (fits all Maxx series)
Suspension screw pin set, hardened steel (hex drive)....
Toe links, Maxx (Tubes black-anodized, 7075-T6 aluminum,
stronger than titanium) (112mm, front) (2)/ rod ends (4)/
aluminum wrench (1) (For Maxx models w/sealed pivot ball
suspension & 3.8' wheels)
Toe links, Maxx (Tubes red-anodized, 7075-T6 aluminum,
stronger than titanium) (112mm, front) (2)/ rod ends (4)/
aluminum wrench (1) (For Maxx models w/sealed pivot ball
suspension & 3.8" wheels)
Turnbuckles, toe links (5.0mm steel

Fuel Tank & Line

$25.00

Fuel line (1 foot)
Fuel line (610mm or 2ft).
Fuel Tank (125cc)
Fuel tank rebuild kit (contains cap, foam washer, o-ring,

upper/lowerretainers, screw, spring and SCrew pin) ...........ccoceveeeeeenne
Heat shield tubing, fiberglass (2) (black

Fuel, Cleaners & Supplies

Bottle, fuel filler (500CC) .....ccuieuieeiieiieeeeeie e
Glow plug, standard (long-hot)/ gasket
Glow plug, super-duty (long medium)/ gasket .
Glow plug, super-duty (long-medium)/gasket
Grease, white lithium

Qil, air filter.
Rebuild kit, fuel filler bottle (includes bottle lid (1) and dispensing
tube caps, rubber (2) (fits 8mm or 5/16" dispensing tube)) .. .
Top Fuel, 10% nitro (gallon) ...
Top Fuel, 10% nitro (quart)
(
(
(9

Top Fuel, 20% nitro (gallon) ...
Top Fuel, 20% nitro (quart)...
Top Fuel, 33% nitro (gallon) ...
Top Fuel, 33% nitro (quart

Antenna crimp nut, aluminum (blue-anodized)/ antenna nut tools ...

Body clip (mounting clip), angled, 90-degrees (10)...
Body clips (12) (standard size)....
Body clips, heavy duty (12)

REV. 080811 1138



Page 3 T-Maxx with TRX 3.3 (Model 4908) Parts List

3930
1633
5477
5478
3980
2584

2586

5476
5355

5475
2745
4147X

5147X
4147
5347
2742X
3215
3965
5169
2562
3161
4859
2577
3159

2551
5282

2578
2552
2579
5142

2553
2580
4978

2554
3932
2576
2550
4897
2743
3642X
1985

3982
3981
2746

5299R

1726
3039

3037

2734
2030
2010
3031

3032
2215
3932
2052
2053
2070
2075
2226

3030X

3034

Bulkhead cross braces (2)/ 3x25mm CS screws (8).........cccccevrveunene
E-clips/ C-rings
Flat wrench, 5mm (blue-anodized aluminum)
Flat wrench, 8mm (blue-anodized aluminum)
Glow plug wrench (universal wrench)
Head screws, 3x12mm cap-head machine (hex drive) (6) (TRX

2.5, 28R, 3.3) it $2.50
Head screws, 3x15mm cap-head machine (hex drive) (6) (TRX

2.5 ettt ettt $2.50
Hex wrenches; 1.5mm, 2mm, 2.5mm, 2.5 ball .........ccccoccrrrrrerrennne $6.00
Hollow ball, tall centered (2)/ tall offset hollow ball (2)/ bump steer
adjustment shims; 3.5mm (2), 1.17MM (2) c.ccooviiiiiiiiieeecee, $4.75

Multi-tool (plastic).......
Nuts, 3mm nylon locking (12)
Nuts, 5mm flanged nylon locking (aluminum, blue-
anodized) (4)
Nuts, 5mm flanged nylon locking (steel, serrated) (8)

Nuts, 5mm nylon 10cking (8) .....cccveiiiiiiiiiiiieieeee e

Rod ends, Revo (large) with hollow balls (12) ........cccccoeeiieiiiiiieen. $9.00
Rod ends, short (6)/ hollow balls (6) . $4.00
Screws, 2.5x6mm cap-head machine (hex drive) (6) .........ccocevvueens $2.00

Screws, 2.5x8mm cap-head machine (6)
Screws, 2.6x8mm countersunk machine (6) .
Screws, 2.6x8mm roundhead maching (6) ..........ccceeeereeiiieeniiniieens
Screws, 2x8mm countersunk maching (6)...........cccceevvrireeieeneeenenn,
Screws, 3x10 flat-head machine (hex head) (4)

Screws, 3x10mm button-head machine (hex drive) (6) ...........c.c.......
Screws, 3x10mm caphead machine (hex drive) (6)/

lockwashers (6)/ heX WrencCh ...........ccccviiiiiiine e, $2.75
Screws, 3x10mm countersunk machine (6) (hex drive).............c..c.... $2.50
Screws, 3x12mm button-head machine (6) (starter attachment

screws With Threadlock) .........coeeieirieieeiee s $3.00
Screws, 3x12mm button-head machine (hex drive) (6) ..................... $2.50

Screws, 3x12mm countersunk machine (6) (hex drive)...........c.c..c....
Screws, 3x15mm button-head machine (hex drive) (6)
Screws, 3x15mm cap-head machine (hex drive) (with split and flat
washers) (6)
Screws, 3x15mm countersunk machine (6) (hex drive)
Screws, 3x20mm button-head machine (hex drive) (6)
Screws, 3x21mm button-head machine (hex drive) (partially

threaded, Revo brake bolts) (6) .... $2.50
Screws, 3x6mm cap-head machine (hex drive) (6) ..........cccccevvvrrenen. $2.50
Screws, 3x6mm flat-head machine (hex drive) (6) ... . $2.50
Screws, 3x8mm button-head machine (hex drive) (6). .. $2.50
Screws, 3x8mm countersunk machine (6) (hex drive).............cccceeu.. $2.50
Screws, set (grub) 4mm (6) (with threadlock) ..........ccccovviiiiiniinnn, $3.00

Set (grub) screws, 3mm hardened (12) .
Shoulder screws, Ultra Shocks (3x12 hex drive) (6).........ccccccvvrueenee.
PTFE washers, 5x8x0.5mm (20) (use with ball bearings)...
Washer, PTFE 6x8x0.5 (10)
Washer, PTFE 6X9.5X.5 (10).....c.ccciriiririeiniiieeneeeeeee e
Washers, 3x6mm metal (12

Engine Manual, TRX 2.5, 2.5R, 3.3 ....ccciiiiiiiiieee e, $7.50
Owners Manual, T-Maxx 3.3 (long wheelbase) (model 4908

Radio System
Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1).................
Battery holder, 4-cell (no on/off switch) (for Jato and others that
use a male Futaba style connector)...........cccceeiiiiiiiicccie,
Battery, RX Power Pack (5-cell hump style, GP cells, NiMH,
1100mAh) $30.00

Cable ties (SMall) (10)...eeoueeeiieieeeieeieee e $2.00
Crystal holders, transmitter & receiver/ decal sheet . .. $2.00
Gear set (for 2018 Servos).........ccoeevreeveereennne. . $4.00
Power adapter, AC (for RX Power Charger) (switching type,

auto power input selection 100-240VAC 50-60 HZ) ................c..... $19.00
Power adapter, DC (12V car adapter for TRX Power Charger) .... $7.50
Receiver, 3-Channel ..o $30.00
Screws, 3x6mm flat-head machine (hex drive) (6) . $2.50
Servo case (for 2055 Servo)........cccovvrveveeieninns $3.00
Servo gears (for 2055 and 2056 servos) . . $4.00
Servo, digital high-torque (ball bearing).................... .$40.00
Servo, digital high-torque (ball bearing), waterproof ................... $46.00
Spring contacts, transmitter (for TQ series transmitter battery
COMPAMMENT) ...ttt eens $3.00

TRX Power Charger, peak detecting/ AC adapter (for charging
NiCad or NiMH 5-cell receiver packs and 6-cell (7.2V) EZ-Start
packs) (includes plug adapter for 7.2V packs)........ccceerirrruereranns $40.00
Wiring harness for RX Power Pack, Traxxas nitro
vehicles (includes on/off switch and charge jack)

5334
5334R

4914R

3930
4929R
4929X

5134
5355

5378X

4933
4933X

5347
4917R
5132R
5131R
5161
4956
5143A

5143R

5143

Axle carriers, left & right (1 €aCh) .......cccooiiiiiiiiiiice, $8.00
Axle carriers, left & right (1 each) (use with larger 6x13mm ball
bearings)/ bearing adapters (for 6x12mm ball bearings) (2)/

dust boot retainers (4) .......cccocerverrieniiesner s 10.00
Body mount posts, front (2)/ body mount, rear/ body mount screw

PINS (4) 1ttt et $6.00
Bulkhead cross braces (2)/ 3x25mm CS screws (8) $3.50

Bulkheads (I & r) (rear) (grey)
Bulkheads, rear (machined 6061-T6
aluminum) (blue)(I&r) (requires use of 4939X suspension pins) $75.00

Caster spacers (4)/ ShimMS (4) ...ccvoiiiiieiiiiiee e $3.00
Hollow ball, tall centered (2)/ tall offset hollow ball (2)/ bump steer
adjustment shims; 3.5mm (2), 1.17MM (2) ...cooiiiiiiiiiiiieiceeee $4.75
Pivot ball caps (4)/ dust boots, rubber (4)/ dust plugs, rubber (4)/

dust boot retainers, black (4), blue (4) (2 pkgs. req. to complete

BTUCK) vttt ettt ettt s e s st seenesbenees e s e e eteseneas $6.75
Pivot balls (4)/ pivot ball cap bushings (4) ........cccceeverininieeiciieene, $6.00

Pivot balls, hard-anodized 7075-T6 aluminum (4)/ pivot ball
cap bushings (4)
Rod ends, Revo (large) with hollow balls (12) ....
Shock tower (for rectangular body posts)
Suspension arms (lower) (2) (fits all Maxx series)
Suspension arms (upper) (2) (fits all Maxx series)

Suspension screw pin set, hardened steel (hex drive). $9.00
Tie bar, rear (1) /3x18mm BCS (2) (fits all Maxx trucks) .. $3.00
Toe links, Maxx (Tubes black-anodized, 7075-T6 aluminum,

stronger than titanium) (124mm, rear) (2)/ rod ends (4)/

aluminum wrench (1) (For Maxx models w/sealed pivot ball
suspension & 3.8' wheels) ........cccccevvriicennscnicceniinnnne $25.00

Toe links, Maxx (Tubes red-anodized, 7075-T6 aluminum,
stronger than titanium) (124mm, rear) (2)/ rod ends (4)/
aluminum wrench (1) (For Maxx models w/sealed pivot ball
suspension & 3.8" wheels)
Turnbuckles, toe links (5.0mm steel

Recoil Starter

Shaft, starter (TRX 2.5, 2.5R, 3.3)
Starter, recoil (complete with screws) (TRX 2.5, 2.5R, 3.3

Shocks (Pro-evel Aluminum)

2666 Big Bore shock cylinder (XX-Iong) (1) ..cccccvveerrenniennsncsnaenns $8.00
2662 Big Bore shocks (XX-long) (hard-anodized & PTFE-coated T6

aluminum) (assembled with TiN shafts) w/o springs (rear) (2) ..
$30.00 4962 Big Bore shocks (xx-long) (hard-anodized & PTFE-coated T6

aluminum) (assembled) w/ red springs, TiN shafts (8 pack)....... $99.99
2669 Piston head set (2-hole (2)/ 3-hole (2))/ shock mounting

bushings & washers (2) (Big Bore Shocks) ..........cccoccviniienianns $2.50
1942 Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball

screws (2) .
2742X Rod ends, short (6)/ hollow balls (6).. $4.00
3962 Set (grub) screws, 3x25mm (8)/ 3mm nylon locknuts (8)..... ... $3.50
2667 Shock caps, aluminum (2)/ (Big Bore Shocks, also fits plastic

Ultra Shocks) $7.00
2362 Shock rebuild kit (for 2 shocks) .. $2.50
2656T Shock shafts, hardened steel, titanium nitride coated (xx-

10Ty Ve ) I ) J $10.00
2656 Shock shafts, steel, chrome finish (xXx-long) (2)......ccocovvveeniiiiinnnens $3.00
1765  Silicone diaphragms (4) $2.00
1666  Silicone shock oil (30 wt)... ... $2.00
2668 Spring retainers, upper & lower (2)/ spring pre-load spacers:

4649R

3766A
2742X
3767
2667

2362
2656T

2656
3642X
1765
1666
3769
3768

4957R

1mm (4)/ 1.5mm (2)/ 2mm (2)/ 4mm (2)/ 8mm (2) (Big Bore
Shocks)....
Springs, red (for big bore shocks) (2.5 rate) (2

Shocks (Ultra Shocks)
Body, Ultra Shock(s) (XXL) (grey) (2)
Rod ends, short (6)/ hollow balls (6)
Shock caps (2)/ shock bottoms (2) ........cccviviieiiiiiieiece s
Shock caps, aluminum (2)/ (Big Bore Shocks, also fits plastic

Ultra Shocks) $7.00
Shock rebuild kit (for 2 shocks) .. $2.50
Shock shafts, hardened steel, titanium nitride coated (xx-

10NQ) (2)ceerrirrrrrercnee e ———— $10.00
Shock shafts, steel, chrome finish (xx-long) (2)..... $3.00

Shoulder screws, Ultra Shocks (3x12 hex drive) (6)..
Silicone diaphragms (4) .
Silicone shock Oil (30 W) .....c.eeiiiiiiiiiieee e
Spring pre-load spacers: 1mm (4)/ 2mm (2)/ 4mm (2)/ 8mm (2).......
Spring retainers, upper & lower (2)/ piston head set (2-hole (2)/ 3-

hole (2))
Springs, progressive rate (for Ultra-Shocks only) (progressive
rate) (f/r) (4)........

$8.00

REV. 080811 1138



Page 4 T-Maxx with TRX 3.3 (Model 4908) Parts List

3757R Springs, rear (red) (2.9 rate) (2)......cceoveieiiiieeiereeee e

4957  Springs, red (for Ultra Shocks only) (2.5 rate) (f/r) (2)
3762 Ultra Shocks (black) (xx-long) (complete w/ spring pre-load

spacers & springs) (rear) (2) $18.00
3762A Ultra shocks (grey) (xx-long) (complete w/ spring pre-load spacers

& SPIINGS) (2) 1ot $18.00

Ball bearings, blue rubber sealed (5x11x4mm) (2)...

5478 Flat wrench, 8mm (blue-anodized aluminum)...
5366 Input shaft, transmission (slipper shaft) ...
5352X Rebuild kit, slipper clutch (steel disc/ friction pads (3)/ spring (2)/

2x9.8mm pin/ 5x8mm MW/ 5.0mm NL (1)/ 4.0mm NL (1)) (for

REVO & MaXX trUCKS) ... .veveuieeiiieiieiesieiceie ettt $7.50
2554  Screws, 3x6mm cap-head machine (hex drive) (6) ..........cccccervrnennn. $2.50
5351  Slipper pressure plate and hub (alloy) ........cccccoeiiiiiiiiiiiiiiiis $8.00

Spur Gears & Pinion Gears
Spur gear, 54-tooth (0.8 metric pitch)....
Spur gear, 56-tooth (0.8 metric pitch)....
Spur gear, 58-tooth (0.8 metric pitch

3956
3957
3958

2728 Ball bearings (5x8x2.5mm) (2) $8.00
5116 Ball bearings, blue rubber sealed (5x11x4mm) (2) .....cocvvveeiieriiennnns $3.50
4944  Bellcrank posts, aluminum (2)/ steering link threaded

rod (3x25mm)/ 1ong rod €NdS (2) ....cccveeeieeiienieeieenie e $7.00
5347 Rod ends, Revo (large) with hollow balls (12) ... .
2579  Screws, 3x15mm button-head machine (hex drive) (6) .........cccceenee $2.50
5345  Servo horns (steering) (2)/ linkage, steering (3x20mm threaded

rod) (2)/ rod ends (short) (4)/ hollow balls (4) ....
4918 Servo mounts, steering/ shift (f&r) (black)....
4918X Servo mounts, steering/ shift (machined

aluminum) (blue) (f&r)/ machine screws (8)
4918A Servo mounts, steering/shift (f&r)(grey)
2070  Servo, digital high-torque (ball bearing)
4945  Steering bellcranks/ servo saver/ servo saver spring/ servo spring

retainer (requires 5x11TmMm BB (2)) ....ccooviiiiiiiiiiieeeeeece e $9.00
2537  Threaded rods (20/25/44mm 1 ea.)/ (1) 12mm set screw.................. $2.50

Suspension Linkage

1633 E-ClIPS/ CoTiNGS...vieeiieiiiieiicieiteisieeie ettt $2.00
5355 Hollow ball, tall centered (2)/ tall offset hollow ball (2)/ bump steer

adjustment shims; 3.5mm (2), 1.17MM (2) ..ccoooiiiriiiiieeecee, $4.75
5347 Rod ends, Revo (large) with hollow balls (12) .......cccccoviiiiiiiiicnns $9.00
2742X Rod ends, short (6)/ hollow balls (6) ..........cccceerveriieiiieiieeiiieeee $4.00
3744  Servo saver w/ adapters . $4.
3642X Shoulder screws, Ultra Shocks (3x12 hex drive) (6).......c.cccevrvrnennn. $3.00
5161  Suspension screw pin set, hardened steel (hex drive) ..........c.cccceeue. $9.00
5141A Toe links, Maxx (Tubes black-anodized, 7075-T6 aluminum,

stronger than titanium) (112mm, front) (2)/ rod ends (4)/

aluminum wrench (1) (For Maxx models w/sealed pivot ball

suspension & 3.8' Wheels) ... $25.00
5143A Toe links, Maxx (Tubes black-anodized, 7075-T6 aluminum,

stronger than titanium) (124mm, rear) (2)/ rod ends (4)/

aluminum wrench (1) (For Maxx models w/sealed pivot ball

suspension & 3.8' Wheels) ... $25.00
5141R Toe links, Maxx (Tubes red-anodized, 7075-T6 aluminum,

stronger than titanium) (112mm, front) (2)/ rod ends (4)/

aluminum wrench (1) (For Maxx models w/sealed pivot ball

suspension & 3.8" wheels) .........cccoeeirierriennnenne $25.00
5143R Toe links, Maxx (Tubes red-anodized, 7075-T6 aluminum,

stronger than titanium) (124mm, rear) (2)/ rod ends (4)/

aluminum wrench (1) (For Maxx models w/sealed pivot ball

suspension & 3.8" wheels) .........ccceeeerrierricnnnenn. $25.00
5141  Turnbuckles, toe links (5.0mm steel) (front) (2) ......cccooevvvrceiininennn. $10.00
5143 Turnbuckles, toe links (5.0mm steel) (rear) (2)......cccccovevveeeeeeeannnnn.... $10.00

Team Traxxas ltems

2514  Decal sheet, racing SPONSOIS.......cc.coiueeriierieenieaieeeniee e siee e seeeaes $3.00
6160X DVD, Maxx Power! Full Throttle Action (sleeve)............cccccevvrinnnnen. $12.99
9914 Maxx Book (By AirAge Publishing) ..$29.
9950 Official Team Traxxas racing decal set (flag logo/ 6-color)................ $4.50
9946  T-Shirt, Large, T-Maxx King of Monsters
9945  T-Shirt, Med, T-Maxx King of Monsters . .
9947  T-Shirt, XL, T-Maxx King of MONSErs ..........cccceiiiiieiniiiiiiiiccees
9948  T-Shirt, XXL, T-Maxx King of Monsters
9949  T-Shirt, XXXL, T-Maxx King of Monsters ....

9909

Traxxas racing banner, red & black (3x7 feet

Throttle & Brake Linkage

4967 Brake cam (blue)/ cam lever/ 3mm set SCrew.........cccccovceeieeiieeneenns $6.25
3182  Collars, screw (2)/ set screws, 3mm (2)........ccccerirreieenineeiiieeeene $2.50
3147X Fuel line (610mMM OF 2ft)........ociiriiiiiicieiree e $3.50

3180 Rod guides (2)/ 3mm nylon locknuts (2)... ... $2.25
4182  Servo horn, throttle-brake/ shift (1) . $2.50
5167  Slide carb linkage bellcrank post/ 5x8x2.5 plastic bushmg 2)

bellcrank/ 5x8x0.5 fiber washer (2)/ 3x10 WM.........ccccoviviiiiniiinnene $2.75
5168 Slide carb linkage set (throttle link, brake link, and hardware) . $6.00
4056  Spring, throttle return (2) (Jato, T-Maxx 2.5R, 3.3) . $2.25

3184  Springs: throttle/brake/shift (3

4147X Nuts, 5mm flanged nylon locking (aluminum, blue-

anodized) (4)

5147X Nuts, 5mm flanged nylon locking (steel, serrated) (8) .
4955  Pins, axle (2.5x12mm) (4)
5374 Tires & wheels, assembled, glued (Gemini chrome wheels,

Talon tires, foam inserts) (2) (fits Maxx/Revo series).........c..cvuu. $39.00
4973R Tires & wheels, assembled, glued (Hurricane chrome wheels, T-

Maxx tires (6.3" outer diameter), foam inserts) (2) (fits Revo/Maxx

SEIIES) ovitinietieteiete ettt s te st e s et ettt e et e teete s te e e te et seen e e ereenennens $41.00
5174A Tires & wheels, assembled, glued (Split-Spoke satin-finish

wheels, Talon tires, foam inserts) (2) (fits Maxx w/sealed pivot

ball suspension & Revo)..... .$39.00
5173 Tires & wheels, assembled, glued (SS (Split Spoke) chrome

wheels, Maxx tires, foam inserts) (2) (fits Maxx/Revo series).....$39.00
5174 Tires & wheels, assembled, glued (SS (Split Spoke) chrome

wheels, Talon tires, foam inserts) (2) (fits Maxx/Revo series).....$39.00
5375R Tires & wheels, assembled, glued (white dished 3.8" wheels,

Response Pro tires, foam inserts) (2) (use with 177mm splined

wheel hubs and wheel nuts, part #5353X)...... ....$47.00
5171 Tires, Maxx Chevron 3.8" (2) (fits Revo/Maxx series) ...$30.00
5375 Tires, Response Pro 3.8" (soft-compound, narrow profile,

short knobby design)/ foam inserts (2) ... ...$32.00
5471 Tires, Response racing 3.8" (soft-compound, narrow profile,

short knobby design)/ foam inserts (2) ........cccoerimrverieninnsnninninnns $30.00
5470 Tires, SportTraxx racing 3.8" (soft compound, directional and

asymmetrical tread design)/ foam inserts (2) .........ccoccvirierreninnnns $35.00
4973  Tires, T-Maxx 3.8" (6.3" outer diameter (160mm)) (2) (fits

REVO/MEXX SEIES) ...c.veuivieienieiiiesieiesiesiesestesiese ettt ssens $32.00
5370 Tires, Talon 3.8" (2)/ foam inserts (2).... .$30.00
4954  Wheel hubs, hex (2)/ axle pins (2.5X12mm) (2)......cccccovvrvvevernninnnne $2.50
4954R Wheel hubs, hex (steel)........cccviierrimiinineninenineens $3.00
4954X Wheel hubs, hex, 6061-T6 aluminum (blue) (4)/ axle

PIiNs (2.5X10MM) (4) c.covriiiiiciinr s $20.00
5353X Wheel hubs, splined, 17mm (blue-anodized) (4)/ wheel nuts,

splined, 177mm (blue-anodized) (4)/ screw pins, 4x13mm (with

threadlock) (4) .....c.cveeeverimninncecsannns $25.00
5353 Wheel nuts, splined, 177mm (blue-anodized) (4).........ccccvnerrienrnns $8.00
5480 Wheel wrench, splined, 177mm $3.00
5371 Wheels, dished 3.8" (white) (2) (use with 177mm splined wheel

hubs and wheel nuts, part #5353X) .$12.00
5372 Wheels, Gemini 3.8" (chrome) (2) ......... .$11.00
5373  Wheels, Hurricane 3.8" (Chrome) (2) .......ccoceeiiiiiieiiiieeeeeeeeee $11.00
5172X Wheels, SS (split spoke) 3.8" (chrome) (2) (fits Revo/Maxx

series)....... $11.00

5172 Wheels, SS (split spoke) 3.8" (satin) (2) (fits Revo/Maxx series) $11.00
Transmission Components

4611 Ball bearings (5X11X4MM) (2)....ccviiiiiiieiiiieiee e $6.00
4995X Reverse installation kit (includes all components to add

mechanical reverse (no Optidrive) to T-Maxx 3.3) (includes

2060 SUD-MICIO SEIVO).....cceeueerrrrereeesesessesersesassesssssssssssssssssssaes $50.00
5119  Ball bearings, blue rubber sealed (10x15X4mMmM) (2).......cccocerirernenns $7.00
5116 Ball bearings, blue rubber sealed (5x11x4mm) (2).... .
5117  Ball bearings, blue rubber sealed (6x12x4mm) (2)

5394X Forward only conversion kit (eliminates reverse) ..

5394  Forward only shaft, steel (Revo) .
5383 Gear set, 2-speed close ratio (2nd speed gear 40T, 13T-16T

input gears, hardware) .........cccoveerimnnnnnnnncs $7.50
5385 Gear set, 2-speed standard ratio (2nd speed gear 39T, 13T-17T

input gears, hardware) .........cccuoveerimninnnnnnnc $7.50
5384 Gear set, 2-speed wide ratio (2nd speed gear 38T, 13T-18T input

gears, hardware) ... $7.50
5386 Gear, 1st speed, 43T ... $3.00
5181 Gearbox halves (front & rear)/ rubber access plug/ shift detent ball/

spring/ 4mm GS/ shift shaft seal, glued. .$10.00
5366 Input shaft, transmission (slipper shaft)... . $4.00
5390 Primary clutch assembly/ 2x9.8mm pin/ 6x8x0 5 TW (1) ....$14.00
5393 Primary shaft/ 1st speed hub/ one-way bearing/ snap ring/ 5x8mm

5352X Rebuild kit, slipper clutch (steel disc/ friction pads (3)/ spring (2)/
2x9.8mm pin/ 5x8mm MW/ 5.0mm NL (1)/ 4.0mm NL (1)) (for

Revo & Maxx trucks) ... $7.50
1647  Silicone grease . $2.00
3981 Washer, PTFE 6x9.5x.5 (10) ... $1.25

REV. 080811 1138



Page 5 T-Maxx with TRX 3.3 (Model 4908) Parts List

Tumbuckies & Threaded rods

4944

5355

5347
2742X
5141A

5143A

5141R

5143R

5141
5143

5119
5116
5117
5394X
5383

5385
5384
5386

5390
5393

Bellcrank posts, aluminum (2)/ steering link threaded

rod (3x25mm)/ 1ong rod €nds (2) ........ccccerireeiieiineee e $7.00
Hollow ball, tall centered (2)/ tall offset hollow ball (2)/ bump steer

adjustment shims; 3.5mm (2), 1.17MM (2) ...coooiiiiiiiiieece e, $4.75
Rod ends, Revo (large) with hollow balls (12) .. $9.00
Rod ends, short (6)/ hollow balls (6) . . $4.00

Toe links, Maxx (Tubes black-anodized, 7075-T6 aluminum,

stronger than titanium) (112mm, front) (2)/ rod ends (4)/

aluminum wrench (1) (For Maxx models w/sealed pivot ball
suspension & 3.8' Wheels) .......cccccevirieinnninnnsnieses s $25.00
Toe links, Maxx (Tubes black-anodized, 7075-T6 aluminum,

stronger than titanium) (124mm, rear) (2)/ rod ends (4)/

aluminum wrench (1) (For Maxx models w/sealed pivot ball
suspension & 3.8' Wheels) .......cccccevirieinnninnnsnieses s $25.00
Toe links, Maxx (Tubes red-anodized, 7075-T6 aluminum,

stronger than titanium) (112mm, front) (2)/ rod ends (4)/

aluminum wrench (1) (For Maxx models w/sealed pivot ball
suspension & 3.8" wheels) .........cccceerrinrienrnnnne $25.00
Toe links, Maxx (Tubes red-anodized, 7075-T6 aluminum,

stronger than titanium) (124mm, rear) (2)/ rod ends (4)/

aluminum wrench (1) (For Maxx models w/sealed pivot ball
suspension & 3.8" wheels) .........ccccvrrieiienennnne
Turnbuckles, toe links (5.0mm steel) (front) (2) .
Turnbuckles, toe links (5.0mm steel) (rear) (2

Two Speed Components

Ball bearings, blue rubber sealed (10x15x4mm) (2).
Ball bearings, blue rubber sealed (5x11x4mMmm) (2).......ccccceeenvrnenns
Ball bearings, blue rubber sealed (6x12x4mMm) (2).......ccccceeieereennnen.
Forward only conversion kit (eliminates reverse)
Gear set, 2-speed close ratio (2nd speed gear 40T, 13T-16T

input gears, hardware) ......... .. $7.50
Gear set, 2-speed standard ratio (2nd speed gear 39T, 13T-17T
input gears, hardware) ......... .. $7.50

Gear set, 2-speed wide ratio (2nd speed gear 38T, 13T-18T input
gears, hardware)
Gear, 1st speed, 43T

Primary clutch assembly/ 2x9.8mm pin/ 6x8x0.5 TW (1).......ccccvenne $14.00
Primary shaft/ 1st speed hub/ one-way bearing/ snap ring/ 5x8mm
TV e $26.00

If you have questions or need technical assistance, call Traxxas at:

1-888-TRAXXAS

(1-888-872-9927) (U.S. residents only)

For orders, calls outside the U.S., and other information, call 972-265-8000, or fax
to 972-265-8011 e-mail Traxxas at support@Traxxas.com

WWW.TRAXXAS.cOoM

REV. 080811 1138





